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FIRST YEAR T. D. C. ARTS EXAMINATION, 2018
ENVIRONMENTAL STUDIES

JITIROT eI

Time: Three Hours
Maximum Marks: 100

INSTRUCTIONS / fadsr

1.  The test booklet contains total 100 questions. Each question carry 1 (one) mark.
UeT0H H Gel 100 U 8 AT TS U 1 3P BT & |

2. Candidate shall be required to attempt all 100 questions.
FAT 100 T & PR AR € |

3.  No negative marking.
FONHD 3fHh T T8l T |

4. On receipt of test booklet, the candidate should immediately check it and ensure that
it is complete in all respect. Discrepancy, if any, should be reported by the candidate
to the invigilator within 10 minutes of receiving the test booklet.
BT U gdhoic UTKl HX &1 Fa9 Usel IAD fel I8 AT Y9 AT Sl PR o,
Ife get U | BIg IS 3feral Hel—Hel 81 Al R Uhdeld bl Gfad BRI |

5. The answer sheet is in the form of OMR answer sheet. Candidates should blacken
the circle corresponding to correct answer.
B B T gl & Sk OMR ¥ # T €| BF B G IR D BicH Bl
PHTell UfTeT /BTl U9 | BT BTedl HRAT ¢ |

6.  While answering each question, candidate should blacken OMR properly with HB

pencil or black ball pen as per instruction printed on the OMR sheet.

B Bl IR ad 999 OMR ¥l ®R 7 W Fcwl &7 &= 4 @ gy ve. 4.
OISt 31erdT BTel UH | 81 Bt BT Blell HIAT ¢ |

7.  For each question only one circle should be blackened. If more than one circle is
found marked, the question will be treated unattempted.
BT B YIS U B IR Th HIicH H & Bl B oAl § | I Td 4 31fdd
dlel el 9 Al 98 IR 81 Y@T ST |

8.  Candidate shall be required to deposit OMR answer sheet with the invigilator.
BT B OMR e SR <7 & UTA Wdeld BT ST BT Tfard 2 |
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I. In which term all the three components of environment, i.e., atmosphere,
hydrosphere and lithosphere are included?

(A) Ecology (B) Autecology
(C) Biosphere (D) Habitat
71 4 9 1 g Ry & A9 gedl, agHed, Siafed Ud WieHsd & AT &7
(A) TTRRerf®! (B) wurRRerfaa!
(C) SigHsd (D) 3faTd

2. The term ‘ecosystem’ was first used by:
(A) Mobius (B) Grassland
(C) Theineman (D) Tansley
giRRerfafds a3 weg &1 SUART Favwed faae fdhar?
(A) #IfeT (B) UGS
(C) P (D) %]

3.  Afoodwebis:
(A) A series of food chains having frequent interlinks
(B) A circular food chain
(C) A moderate sized food chain having many trophic levels.
(D) A long straight linked food chain
@y STl 7 87
(A) @I sf@ar o FRAR U gk & =1 &l
(B) U =fshd WY %ol
(C) TP #egH IAThR Bl WG STl UIiehdl TR & A1
(D) THh NI TSI g Al WIS STl

4.  Humus is the:

(A) Living organic matter (B) Leaves and twigs of plants

(C) Partly decomposed organic matter (D) Fully decomposed organic matter
TIAA T &7

(A) Sifdd wEfw garet (B) UwEN @1 gRkpdr g dwferdl

(C) 3Mf¥re wu ¥ fdafeq weHe gerl (D) T dkE ¥ fafed srfre uare

5.  Ecological pyramids represent the:

(A) Trophic structure (B) Energy flow
(C) Ecological succession (D) All of the above
qiRRerfae fORifie <oiid € —
(A) UIfewmar AT (B) il yaTg
(C) uRReIf®! JTgehor (D) SURIGT A4
6.  Which of the following is not a biogeochemical cycle?
(A) Carbon cycle (B) Nitrogen cycle
(C) Cycle of erosion (D) Sulphur cycle
71 # | DA U SIRRIANS 96 T8l 87
(A) HTET TH (B) TSSO dh
(C) 3MUNGH Pl dh (D) HeHN UHh
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7. Soil erosion is responsible for:
(A) Loss of salts in the soil (B) Temperature rise
(C) Loss of soil fertility (D) All of the above
QT 3TREA HRED & —
(A) Ha&T ¥ AqUIl BT HHI (B) dAUHM gfg
(C) Ha&T IdRHBAT § HHI (D) SURIGT A4
8. Which of the following is not a cause of air pollution?
(A) Automobiles (B) Industries
(C) Use of solvents (D) Forests
= § | 39 9 UgYY & HR$ T8l 2?
(A) SifeHETgd (B) &AM
(C) fIama®d &1 SUAM (D) a4
9.  In which year Air (Prevention and control of pollution) Act was introduced in India?
IR (IGYYT ERvT Ue i) S fhd av # on] ger?
(A) 1974 (B) 1981
(C) 1986 (D) 1972
10.  Which of the following are responsible for pollution in the environment?
(A) Thermal power plants (B) Nuclear power plants
(C) Automobiles (D) All of the above
71 % | @7 TR H§ yguul & BRE 77
(A) SR wfdd T (B) ATH®OR ol a3
(C) ifcHEsd (D) SURIGd A
11.  Which of the following part of human body is highly affected by air pollution?
(A) Blood circulation system (B) Respiratory system
(C) Excretory system (D) Digestive system
AMA INR BT HITAT 9N IR UGHUT ART a4 M ga1fad s &7
(A) Yo IR™EERT TF (B) a9 O
(C) oA o (D) urEd A
12. Which of the following is not a source of water pollution?
(A) Automobiles (B) Domestic effluents
(C) Sewage (D) Industrial effluents
71 # | R S U BT BRE T8I 2°
(A) JifcHETEd (B) =RQ URre
(C) e et (D) aieafie e
13. Fluoride content in water is responsible for the disease:
(A) Amoebiasis (B) Typhoid
(C) Bone disorder (D) Cholera
STl § TARIgE &1 AT i 9N & SRS & —
(A) rfAferRm (B) cIs®hIss
(C) R fddR (D) BT
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14. Full form of ‘PAN’ in environmental reference is:
(A) Para acid nitrate (B) Peracetonitrile
(C) Peroxyacetyl nitrate (D) Permanent account number
TR e F PAN &1 qRT 719 &7 © —
(A) Para acid nitrate (B) Peracetonitrile
(C) Peroxyacetyl nitrate (D) Permanent account number
15. Nepenthes and Utricularia are examples of:
(A) Carnivorous plants (B) Insectivorous plants
(C) Orchids (D) Symbiotic plants
T T FfeFHRAT 5 UBR & il & IaTeR0T 22
(A) HNER! Ui (B) IcHel i
(C) dfffbs (D) HESIdr die
16. Full form of AIDS is:
(A) Acquired immun deficiency syndrome
(B) An infections disease syndrome
(C) Additional infections disease syndrome
(D) None of the above
AIDS &7 =T 919 & —
(A) Acquired immune deficiency syndrome
(B) An infections disease syndrome
(C) Additional infections disease syndrome
(D) SWRIFd Blg el
17. Smog is a mixture of:
(A) Smoke and clouds (B) Mist and rain
(C) Smoke and fog (D) All of the above
AP fhaamT fsor 572
(A) g g 9raet (B) gY@ aul oI
(C) 3T g I (D) SWRITd A
18. The major source of marine pollution is:
(A) Sewage (B) Oil spill
(C) Plastics (D) Methane
AT IqET BT FRS HT & —
(A) i AT (B) o Ruma
(C) wIRTH (D) #Hig=
19. Noise pollution is measured in:
(A) Decibel (B) Bar
(C) mm (D) Volt
e UguUT AIUA ST FT 57
(A) SRyed (B) R
(C) A (D) dree
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20. Sunderbans are famous for:

(A) Tiger (B) Rhinoceros
(C) Lion (D) Anaconda
gexad e umoht o suRerfa & ufig € —
(A) 91" (B) 7T
(€ Rig (D) UATDIST
21. Small organisms floating on the surface of water are known as:
(A) Nekton (B) Plankton
(C) Biome (D) Compost
ST @1 Adg IR A=A dTel Sild dhEelld & —
(A) Sded (B) wId®
(C) M (D) HHRT
22. Plants in an ecosystem normally act as:
(A) Consumers (B) Decomposers
(C) Producers (D) Pollutants
foell ot aRReIfd@! dF H el &1 &R, =1 3 | iar &7
(A) SUHTIIT (B) 3MgucH
(C) SeEs (D) WG
23. Ozone layer is located in:
(A) Stratosphere (B) Biosphere
(C) Lithosphere (D) Troposphere
NS URA HEl SR & —
(A) IHAY Hsd (B) SigHsd
(C) yHsA (D) IVHSS
24. Water pollution arises due to presence of:
(A) Domestic sewage (B) Agro-chemical waste
(C) Industrial waste (D) All of the above
T UGNl Jee: fhdas SOR BT § —
(A) B AU (B) TUIBhH&Hd JAURTE
(C) QI e (D) SURIGT A4
25. The species confined to a particular region are known as:
(A) Endemic species (B) Endangered species
(C) Extinct species (D) None of the above
mgwﬁ%ﬂqwﬁﬁﬁ ST & HEaldl 8 —
(A) wﬁm PIGINEI (B) Jwurg YSiicrar
(C) fagw ysmfcrn (D) SWRIFd B sl
26. Lead pollution in many countries is due to:
(A) Lead pencils (B) Batteries
(C) Automobiles (D) Electronic gadgets
®s <2 H AT YU B H RS 7 H F R & —
(A) T ufie (B) d¢T
(C) SifcHEsd (D) Soldgi«d SYHR]
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27. Acid rain is caused by:
(A) Excess production of coal gas
(B) Excess release of carbon dioxide due to increasing combustion and respiration
(C) Excess release of SO, and No, from burning fossil fuels
(D) Excess production of gaseous hydrocarbons

3Tl a9t BT HREB & —
(A) BId I BT JIRF IATGH
(B) A% T8H Ud Ta9H SART HlA- SE—3NRIgS BT AAH F8d
(C) Silared guHl & g8l ¥ SO, Ud NO, &1 AP q81d
(D) RIS BISSIhE BT IS IToiA
28. Freonis a:
(A) Ferrous sulphate pollutant
(B) Chloroflorocarbon
(C) TIron containing polycyclic hydrocarbon
(D) Metal fluoride
/1 # 3 a1 ue wisie 2?
(A) I IhIgS TguD
(B) FARITFARIBIEA

(C) @Il Jad Ui A8 (ot BTggidbra
FANTSS

(D) ©1g
29. A secondary pollutant is:
(A) Ozone (B) Carbon monoxide
(C) Methane (D) Lead
1 5 A Fa1 U gfae ugue © —
INEEISIE (B) HEA AFRITSS
(C) #HgH (D) e
30. Bhopal gas tragedy was due to:
(A) Air pollution (B) Soil pollution
(C) Water pollution (D) None of these
I Al fhad gaRT g8 —
(A) 1Y U (B) ¥ WG
(C) ST Ugyul (D) SWRIAd ®I T8l
31. The biological amplification of DDT at the various trophic levels is known as:
(A) Greenhouse effect (B) Bio-magnification
(C) Eutrophication (D) Pollution
Tifteehdr ¥R TR DDT &7 Sifdd Yael= @1 dadrar g7
(A) HIFETSH YT (B) Sifds e
(©) YSHfBDaT (D) wgww
32. A colourless, non-irritant, highly toxic gas, that impairs respiration, is:
(A) SO, (B) NO,
(C©) CO, (D) CO
I, JAH el N ST T B gAIfAd B § —
(A) SO, (B) NO,
(C) CO, (D) CO
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33. Environment can be improved by:

(A) Wind erosion (B) Excessive tree fall
(C) Conservation (D) None of these
TITGROT B FURT ST AhdT & —
(A) I AURE (B) AfI® U8 B R 9
(C) =TT | (D) SWRIFT Bls el
34. Domestic waste is:
(A) Effluent (B) Bio-degradable
(C) Non-biodegradable (D) Air pollutant
TNl MURre A § | T § -
(A) varE (B) o9 3rqeceie
(C) 3oig rugeeie (D) g Ugu®
35. Loud noise causes:
(A) Irritation (B) Irrationality
(C) Impairment of hearing (D) Dilation of blood vessels
IAf® IR 4 H ¥ fhasr aR® 8°
A) fors foem= (B) ddardr
(C) g1 # = (D) ad afedRl H bl
36. A Major reason for soil erosion in India is:
(A) Tilling of land (B) Deforestation
(C) Overgrazing & deforestation (D) Overgrazing
YRA H HaT UG P & HRb FT o7
(A) ﬂ'ﬁ BT ST (B) fa=raxor
(C) IARH TRTS U fd=IHRo] (D) IIIH TRTS

37. The total fresh water reserve of the earth is about?
il BT Bl WS STl Had TITH fhe gfaerd 82

(A) 2.2% B) 0.5%
©) 2.7% (D) 0.0001%
38. The atmospheric pressure is measured by?
(A) Manometer (B) Barometer
(C) Technometer (D) Anemometer
qgHSA &9 {hd FART ATAT ST 67
(A) HARIER (B) R
(C) TH-MIeR (D) TAHRIER
39. The main source of energy for the biosphere is?
(A) Respiration (B) Photosynthesis
(C) Sun light (D) Carbohydrates
SiiaAsd # $Holl & & S T &7
(A) Taad (B) UHT HIATOT
(©) ¥ 31 P (D) PHEEESTH
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40 The oxygen content of atmosphere is about?

IRJHed H SR & A3 fha- ufderd 22

(A) 21.94% (B) 18%
(©) 0.3% (D) 79%
41. Which of the following types of waves has greatest killing effect on the organisms?
(A) Ultraviolet rays (B) Infrared rays
(C) Electromagnetic waves (D) None of the above
71 7 9 {5 9eR & 99 &7 SHdl R gTad YN 57
(A) TRTSTAT fdbvor (B) $9pRS fdror
(C) fagga g=ag 9a (D) SWRIFT Pl el
42. The energy flow in organisms is?
(A) Cyclic (B) Unidirectional
(C) Radiant (D) None of the above
Sidl § ol garg 1 9 9 {6 gaR 2?
(A) dfsha (B) Udlaa
(C) fawRa (D) SWRIGT ®ig el

43. Environmental degradation means?
(A) Mixing of pollutants in the air
(B) Biomagnification of toxic agents
(C) Increase in pollution, toxic agents, desertification, deforestation and other
factors that degrade the environment
(D) None of the above
ITaROT frATeReT & aread 87

(A) UgHHI &I 9 H A
(B) fauTed ®R®I &1 IRMARAhHIE

(C) USuV, fAWad HR®I, AORIATHR, FIAIBRY AR 3 HR&bI H ghg Sl

TITaRYT BT fFdpd ax B §

(D) SWIad IS el

44. Blue baby syndrome is caused by?
(A) Carbon monoxide (B) Nitrate
(C) Fluoride (D) Mercury
& 941 0T fhad garT grar 27
(A) BIET AARITIRITSS (B) ¥Tsg<
(C) TARISS (D) URT

45. In which year Wildlife Protection Act was enacted?

JISIg HRET AT b oy # rfef-afia gam?

(A) 1962 (B) 1972
(C) 1982 (D) 1992
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46. Color of ozone molecule is:

(A) Blue (B) White
(C) Pale yellow (D) Pale green
SIS 3MY] BT T T 57
(A) e (B) ¥wg
(C) widr U (D) WIdT B
47. Wildlife Week is celebrated on?
(A) Ist October to 7" October (B) 15th October to 21st October
(C) IstJuneto 7" June (D) 15th June to 21st June
RN Htdle dd HATIT STl é?
(A) 13faCaR I 7 IR (B) 15 JdcaR W 21 3fdFCaR
(C) 1SFA7 A (D) 15 A ¥ 21 A
48. Carrier of Dengue disease is?
(A) Aedes Mosquito (B) Culex Mosquito
(C) Housefly (D) Anopheles Mosquito
ST I BT Aq’DH KT 57
(A) TSI HeBv (B) TN HTBR
(C) Hadl (D) THAIMhely] 78R
49. Green house effect causes:
(A) Increase in rainfall (B) Lowering of acid rain
(C) Rise in temperature of earth (D) Lowering in temperature of earth
WS U1 & T Il 27
(A) aui ¥ gfg (B) 3% a9l & HHI
(C) YAl & aroHE H gfg (D) TAT & AIUHAN H HHI

50. Domestic sewage is:
(A) Waste water from industries
(B) Waste water from residential areas
(C) Waste water generated from kitchens and bathrooms
(D) None of the above
Trke T e W 27
(A) SN o7 ORI Sef (B) ERI T SURIE STt
(C) XA T§ FFERT &l AURME 5e7 (D) SWRIGd BHig 78]

51. World ‘Ozone day’ is being celebrated on every year:

(A) Sept5™ (B) Sept 16"

(C) Oct 15" (D) June 5™

JoTE feas ufay &9 F9R=T 1T 87

(A) RydeR 5 (B) fRidex 16

(C) ISR 15 (D) ST 5
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52. Environmental protection is the responsibility of:

(A) Individuals (B) NGO'’s

(C) Government of India (D) All of the above
QTR0 EReT0T o # 9 fhaa Rreery 87

(A) Ffdd (B) IR WRBRT I
(C) YRA TRPR (D) SURIET A4

53. The objectives of the wild Life (protection) Act 1972 is:
(A) To preserve the biodiversity
(B) Protection and conservation of wild life
(C) To maintain essential ecological and life supporting system
(D) All the above
JIIg ARETT AT 1972 & STTT FAT 77
(A) Sig fafderar &1 GReror
(B) d=Ioig T HREVT U4 §41d
(C) uRRerfde Td Siad awi= YoTmell &I 91— IG+=1

(D) SWRIFT T4
54. Term used for species which is in danger of being extinct in near future is:
(A) Degradability (B) Extinct
(C) Endangered (D) Global biodiversity
I8 YSIITAT ST 37 Tl F9d H fIgW 89 & IR H § 98 RIT dealil o°
(A) T & ANy (B) fagw
(C) F<ur (D) dRa®w St faaedr

55. The main objective of First Aid is -
(A) To preserve life
(B) To prevent the victims condition from worsening
(C) To promote recovery
(D) All of the above

UeIfHe SUEAR BT & e T 57
(A) ST &1 9419 (B) i@l @1 favrscdl 8Taid @l AT
(C) YT 8 H HEg Al (D) SURIET A4
56. Xerophytes are the plants?
(A) Grown in humid regions (B) Grown in arid regions
(C) Grown in temperate regions (D) Grown in saline area

AToigg UIed H8l U I 57
(A) T gad &=l § I arad (B) g &l H I ared
(C) TRramioy e=i # I+ are (D) @R &F H I aTel
57. What is the life supporting role of Ozone?
(A) It helps in precipitation (B) Absorb the sun’s ultraviolet radiation
(C) It controls air temperature (D) All of these

SIS &1 Siia= Ferdd AP FT 2°
(A) T8 § IS (B) I &I URTAITT ThRoT DI @@y HRAT
(C) darg & AT B FRIT AT (D) SWRIGd F41
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58. Which of the following is a method to minimize the air pollution of the urban

centres?
(A) Agricultural development (B) Green belt
(C) Better housing (D) Lesser use of automobiles
1 H | BT R Bl H AR UG Bl R[ATH R BT IUN 5P
(A) P fam™ (B) W+ dcc
(C) 98X 3ma™ (D) JifcHERd & <Adq SUIRT
59. Which one of the following is not a source of green electricity?
(A) Wind energy (B) Biomass energy
(C) Geothermal energy (D) Thermal energy
1 # 9 o= R Soft & | T8l 27
(A) g Holl (B) ST $Holl
(C) a1 ol (D) AT SHolf
60. InIndia ‘NEERT institute is located in?
(A) Nagpur (B) Kolkata
(C) Mumbai (D) Delhi
IR H IR A FEr Rerd 87
(A) ARTYR (B) hIcTdhrar
(©) T (D) feeeh
61. Ozone promotes?
(A) Oxidation of biochemicals (B) Destruction of chlorenchyma
(C) Bothaandb (D) Growth of plants
saq 1 o | fad gfg a=ar =7
(A) NSRS AfaAHRoTr (B) FARDHT &1 foATT
(C) A 3R B aHi (D) UrN &1 faer
62. Which of the following is not a pollutant, normally?
(A) Hydrocarbons (B) Carbon dioxide
(C) Carbon monoxide (D) Sulphur dioxide
71 § 9 S A Uh Ugud Tal 27?
(A) BIgSIphle (B) HTET SRIITRITSS
(C) HIEA AARTFES (D) FehR SRS
63. The Environment protection Act was passed in?
TYTEROT HRET0T AT d qTiRe gair?
(A) 1992 (B) 1986
(C) 1984 (D) 1976
64. Number of atoms in ozone molecules are?
3MSII 379] fohe URATY] | 97 57
(A) 2 B) 3
C) 4 D) 1
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65.

66.

67.

68.

69.
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Acid rain affects:

(A) Soil (B)
(C) Materials (D)
iy et = # 9 fr garfaa a=ar 87

(A) ¥« (B)
(C) uered (D)
Pollutants are classified into?

(A) Biodegradable (B)
(C) Non biodegradable (D)

ggue! & f= § 9 fad affea fear ar 2°

(A) eruraﬁ%ﬁéaa (B)
(C) M IS U<dad (D)
Ramsar International Convention is related to?

(A) Forest conservation (B)
(C) Soil conservation (D)
MR SR T fhas gwfad 87
(A) I & (B)
(C) FaT wRerT (D)
Which of the following is not a toxic metal?
(A) Lead (B)
(C) Gold (D)
= § 9 39 U faured g @ 2?

(A) s (B)
(C) Tcs (D)

Plants
All of the above

qrey
SLERESEESED

Qualitative
All of the above

El; c
SLERESERSE ]

Wetlands
All of these

Jcois
SLERESEESED

Cadmium
Copper

It

1Y)

Which are the useful methods to control gaseous pollutants of air?

(A) Combustion
(C) Adsorption

(B)
(D)

Absorption
All of the above

71 4 9 ST ag & I UgUD] B HIH H @A DI YOl 57

(A) ST (B) sif¥enyor

(C) 3rferamsor (D) SURIGT A4
70. Earthquake under the sea is called?

(A) Tsunami (B) Cyclone

(C) Landslide (D) None of the above

g W Sd &Y FIT HEAT 27?

(A) G (B) TSN _

(C) RIeH (D) SWRIFd d I BIg A8
71. Bacteria and fungi act in ecosystem as:

(A) Producer (B) Decomposer

(C) Consumer (D) None of the above

STaTY] Ud dad Ua qIRRfd@] 3 # &9 & a3 =7

(A) IAEH o (B) 3MUECH i

(C) SUHIHAT o (D) SWRIFd dlg 8!
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72. The most prominent greenhouse gas is:

(A) Carbon dioxide (B) Ozone
(C) Sulphur dioxide (D) Hydrogen
A 3 TPl arell BRI—IE g91d arell I § —
(A) P STSATRISS (B) 3NSA
(C) THR SIS (D) TR

73. What are the components of biodiversity?
(A) Ecosystem diversity (B) Species diversity
(C) Genetic diversity (D) All of the above
SI—fAfRIar & ged BHI-—DIF T B2
(A) utRRerfae faaedr (B) oI faaerdr
(C) il faaerd (D) SWRIad a4

74. Ozone layer is damaged by:
(A) PAN (B) CFC’s
(C) CO, (D) Coal burning
3G IR T B DI Ugardl & —
(A) PAN (B) FARITFARIBIEA
(C) P STSATRISS (D) P T8

75.  Which of the following is a natural ecosystem?
(A) Desert (B) Lake
(C) Oceans (D) All of the above
1 H 9 P A1 upfae aiRRefdeT 9F @
(A) A= (B) e
(C) ¥ENIR (D) SURIGT a4

76. Non-green plants which obtain food from other plants are called:
(A) Hosts (B) Parasites
(C) Saprophytes (D) Insectivorous
ERAEI UIGY SIl 3 UTqUl W 37U HIoH YT & &, Hecld &7
(A) UYH (B) TSIl
(C) FamgSIdr (D) dleweh

77. If a human disease occurs only in a restricted area of the globe, it is known as:
(A) Pandemic (B) Epidemic
(C) Endemic (D) None of the above

%a@éﬂmwquﬁaﬁﬁmﬁ%ﬁaﬁﬁﬁwméﬁgﬁ

(A) FIaTql (B) #HemMry

(C) <~ (D) SWRIGT § I BIg Aol
78. AIDS can spread through which activity in humans?

(A) Contact (B) Hugging

(C) Blood-transfusion (D) None of the above

USH BT HHHAU AFAl H A el AHdT 57

(A) gt (B) ol & 4

(C) FT—IIRIYOT I (D) SH | ®Ig ol
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79. The maximum number of individuals supported by a given environment is known

as:
(A) Biotic potential (B) Environmental resistance
(C) Carrying capacity (D) Population size
feg v ¥ sl afdaal & daifte dwar S dgaRkd &1 o Aol
2 PNl & —
(A) Sifas Refaw (B) TITaROT gfoRTe
(C) YURP &HdT (D) ST 3Ty
80. Renewable energy sources are:
(A) Wind energy (B) Solar energy
(C) Hydro-electricity energy (D) All of the above
H‘cﬁ’ﬂﬂ%ﬂ Sl I § —
(A) ag ol (B) R SHoil
(C) STa—fagga el (D) SURIGd A
81. The reason for food crisis all over the world can be:
(A) Excessive population growth (B) Natural calamities
(C) Poor distribution system (D) All of the above
H G B HH D TI BRI § —
(A) ISP STTEET (B) UTHid JAMUGR
(C) gl faa=or yommedt (D) SURIGT A4
82. Minamata disease in Japan occurred due to:
(A) Mercury poisoning in fishes (B) Arsenic poisoning in birds

(C) TIron poisoning in Snakes (D) None of the above
AT U 4 {6 arg &1 favel ypla 4 f&d Sfia H§ gam —
(A) #oferal § uR @7 fauredar 9 (B) uferal # 3 & fasTadr &

(C) <A # rg—fauTaaar & (D) TH | I3 el
83.  Which of the following are not biotic components of an ecosystem?
(A) Plants and bacteria (B) Algae
(C) Minerals and gases (D) All of the above
STH ¥ B | oIfteh T & Sifdd Och Al &7
(A) UIY g SiEm] (B) ard
(C) @fis td 9 (D) SURIGT A4
84. Interaction of biotic and abiotic component resulting in a system is known as:
(A) Bio system (B) Ecosystem
(C) Zoogeography (D) None of the above
Sfd® T sifas AueH! & R fohaT | S dF B FEd © —
(A) g T (B) uiRRerfaa T
(C) roft e (D) SWRITd d I IS A8l
85. When ecological succession takes place in water it is known as:
(A) Xerosere (B) Halosere
(C) Lithosere (D) Hydrosere
9 URReIfde SATHAT STl & A8 / 3<R 8l Al bedl & —
(A) HODHD (B) <IdUIshHD
(C) ¥ HHD (D) STeAHAD
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86.

87.

88.

89.

90.

http://www.ggtuonline.com

Which of the sanctuaries in India is famous for Rhinoceros?

(A) Sunderban (B) Jaldapara
(C) Panchmarhi (D) Dandeli
o < PRl AR e 1S @ forl uRrg &7
(A) goxdd GRS KEEIN
(®) wﬁ (D) <lael
In which year was the Forest (Conservation) Act passed in India?
g9 (HReT0T) Sffef™ wRA H by 99 Utk garr?
(A) 1927 (B) 1950
(C) 1980 (D) 1986
Who first used the term ‘biological diversity’?
(A) W.G. Rosen (B) Raymond F. Dasmann
(C) Thomas Lovejoy (D) E.O. Wilson
ISR CRSES QIIRT HdH Uzl SUYH] ﬁf forar ar?
(A) s, SiT. A (B) YHUS U%, TFHE
(C) ¥ <Iawiry (D) 3. 3. o

Which of the following is not a terrestrial ecosystem?

(A) Forest (B) Grassland

(C) Swamp (D) Desert

o H | R e ey aiRRefaet o F8 87

(A) T4 (B) TS

(C) iy (D) "ol

Carbon monoxide is pollutant as it:

(A) Inactivates nerves (B) Inhibits glycolysis

(C) Combine with oxygen (D) Combines with haemoglobin
BT AFRIGAISS Udh UgH® © adlfd —

(A) df3emei &1 ey wxar 8 (B) ToITSHIcSRINT &Y f3har &1 bl @
(C) ST & A IS oIl © (D) THFRAINT & T IS ST &

91. The vermiculture technology involves the use of:

(A) Azospirillum (B) Earthworm

(C) Rhizobium (D) None of these

FH Argafter # = #§ 9 e ST gar 87

(A) 3onRTRee (B) aﬁ?ﬂ

(C) XfEsrfas (D) SWIE BIg el
92. Ecosystem has two components:

(A) Plants and animals (B) Weeds and trees

(C) _Biotic and abiotic factors (D) None of the above

dF @ aI JUUTH AT 87

(A) g 7d Sig (B) TWRUJIR TG TS

(C) ifdd Td s™ifdd dRS (D) SWRIGd Bl 8l
93. The biggest threat to a species is:

(A) Low reproductive rates (B) Disease

© Ahen invasive species (D) Loss of habitat

BT T TS WRT RIT 87°

(A) YoE <R H HH (B) I

(C) faeeh sl gorforn (D) 3 @I 81
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94. In which of the following National parks ‘Lion” is being conserved?

(A) Dudhwa (B) Corbett
(C) Kaziranga (D) Gir

= 9 fod T SeE # IR BT SR B S 87
(A) ggar (B) ®fdc

(C) BISIR (D) fir

95. What percent of solar radiation is used in photosynthesis?

IR fafexor &1 fdar ufererd uerer Georvor § SuIaeT gidr 27

(A) 2% B) 10%
C) 8% (D) 4%
96. Which of the following is known as sink of the energy?
(A) Autotrophs (B) Consumers
(©) Sun (D) None of these
1 & 3 Fa1 SO BT 8N dEarar 8?
(A) gy (B) UG
C) I (D) SWRIFd dls el

97. The most obvious global environmental issues include:
(A) Global warming and ozone depletion (B) Burning of fossil fuel

(C) Acidrain (D) Air and water pollution
T faed gataroig 98 & —
(A) IRTH TU T A e (B) SATTH SYAET BT ST
(C) 3=y gyt (D) a1g Td STl Uguor
98. Asbestos use is banned in many countries. It is known to cause:
(A) Cardiac diseases (B) Urinary diseases
(C) Lung cancer (D) Cataract
TEREd @ SUANT R $3 <l H JHAM o8 TS &, SHD §IRT Bl & —
(A) BRI (B) ¥F A
(C) BHSI BT DR (D) #Aifcarfds
99. The planet nearest to the sun is:
(A) Earth (B) Mercury
(C) Moon (D) Jupiter
TF ¥ Fwead U8 § —
(A) g1 (B) I=
(C) =eHr (D) sEwfd
100. Which waves carry carry most energy?
(A) UV light (B) Infra-red light
(C) Microwaves (D) Millimeter waves
o & 9 el 99 srafd® Soft v 27
(A) TRISTAT fabvor (B) 39pRS fdror
(C) Hrgshlda (D) fHeiHieR aa
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